1638030 5¢039065 s 3serznrabol gergdgbdhgdo
(b5BoM=ggMEMY0M0, J0d0s=-09FEoEMYR0s, SOJoBIIGHTIOS )
I bydguBHeo. 2020-2021 fgro
(895¢m9M0 359m 3ol 60dmdo)

Question 1
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Select one:

(12 16 —5)
J\-13 —-16 2
(—12 16 —5)
b\ 3 —16 22
(12 16 —5)
c\3 16 2
(12 —16 5)

4 \13 16 2
Question 2

I 0 -1 B=12
A= 5 4 2
03390 2 Q5 S/ 85@M03900L 653M13e0

Select one:

)
()
)


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%20%5Cbegin%7Bpmatrix%7D%20-2%20%26%26%204%20%26%26%20-5%20%5C%5C%207%20%26%26%20-6%20%26%26%203%20%5Cend%7Bpmatrix%7D%2C%20B%20%3D%20%5Cbegin%7Bpmatrix%7D%20-4%20%26%26%200%20%26%26%20-3%20%5C%5C%205%20%26%26%20-8%20%26%26%202%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=4A%20-%205B
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%2016%20%26%20-5%5C%5C%20-13%20%26%20-16%20%26%202%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20-12%20%26%2016%20%26%20-5%5C%5C%203%20%26%20-16%20%26%2022%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%2016%20%26%20-5%5C%5C%203%20%26%2016%20%26%202%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%2012%20%26%20-16%20%26%205%5C%5C%2013%20%26%2016%20%26%202%20%5Cend%7Bpmatrix%7D%20
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%20%5Cbegin%7Bpmatrix%7D%201%20%26%26%200%20%26%26%20-1%20%5C%5C%202%20%26%26%205%20%26%26%204%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%20%3D%20%5Cbegin%7Bpmatrix%7D%201%20%5C%5C%202%20%5C%5C%20-2%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%204%20%5C%5C%203%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%202%20%5C%5C%201%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%201%20%5C%5C%202%20%5Cend%7Bpmatrix%7D
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Question 3
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Select one:
a. -28
b. -20
c. -24

d. 28

Question 4

I
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59mblgbom 25bEHMgds

Select one:
a. -3

b. 3

d. -2

Question 5
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A= ( . )
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Select one:

(2 1)
3 1
¢ 2 \—3 —3


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%203%20%5C%5C%204%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5CDelta%20%3D%20%5Cbegin%7Bvmatrix%7D%202%20%26%26%203%20%26%26%20-1%20%5C%5C%20-2%20%26%26%200%20%26%26%202%20%5C%5C%201%20%26%26%201%20%26%26%204%20%5Cend%7Bvmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%0A%5Cbegin%7Bvmatrix%7D%0A2%20%26%26%20x%20%26%26%200%20%5C%5C%0A1%20%26%26%20-2%20%26%26%203%20%5C%5C%0A2%20%26%26%200%20%26%26%200%0A%5Cend%7Bvmatrix%7D%0A%3D%0A%5Cbegin%7Bvmatrix%7D%0A2%20%26%26%20x%20%5C%5C%0A-1%20%26%26%205%0A%5Cend%7Bvmatrix%7D%0A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%20%3D%0A%5Cbegin%7Bpmatrix%7D%0A-1%20%26%26%202%20%5C%5C%0A-3%20%26%26%204%0A%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%202%20%26%201%20%5C%5C%20%20%20-%5Cfrac%7B3%7D%7B2%7D%20%26%20-%5Cfrac%7B1%7D%7B2%7D%20%20%5Cend%7Bpmatrix%7D

Question 6
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2r 4 bz = -1
—3r+y=-3
y+4z=05

Select one:
a. 7
b. 4
c. 3

d. 5

Question 7
03M390 a(3;5; —4) o b=2i—4j 399™G9d0L 2d + b Gox030
3™30065300L 3MMMOO0bsEHGd0

Select one:

a. (8; 10; -12)
b. (16; -20; -16)
c. (16; -4; -4)

d. (8; 6; -8)


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%20-%5Cfrac%7B1%7D%7B2%7D%20%26%20-1%20%5C%5C%20%20%20%5Cfrac%7B3%7D%7B2%7D%20%26%202%20%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%20-%5Cfrac%7B1%7D%7B2%7D%20%26%201%20%5C%5C%20%20%20-%5Cfrac%7B3%7D%7B2%7D%20%26%202%20%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbegin%7Bpmatrix%7D%20%20%202%20%26%20-1%20%5C%5C%20%20%20%5Cfrac%7B3%7D%7B2%7D%20%26%20-%5Cfrac%7B1%7D%7B2%7D%20%20%5Cend%7Bpmatrix%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%20%2B%20y%20%2B%20z
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=x%2C%20y%2C%20z
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%0D%0A%5Cbegin%7Bcases%7D%0D%0A2x%20%2B%205z%20%3D%20-1%20%5C%5C%0D%0A-3x%20%2B%20y%20%3D%20-3%20%5C%5C%0D%0A3y%20%2B%204z%20%3D%205%0D%0A%5Cend%7Bcases%7D%0D%0A
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%283%3B%205%3B%20-4%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%20%3D%202%5Cvec%7Bi%7D%20-%204%5Cvec%7Bj%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2%5Cvec%7Ba%7D%20%2B%20%5Cvec%7Bb%7D

Question 8
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Select one:
a. B(2;1;-2)
b. B(—2;-1;2)
e B(?, —2: 1)
B(-2;-2;1)
Question 9
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Select one:
aax=06,=3
b.a=—6,3=3
ca=608=-3

a=—6,3=—
Question 10
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Goago 181 =3, 18] = 4 5 850r Buols gy @ = &, b =120°

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BAB%7D%28-4%3B3%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%282%3B-5%3B0%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%282%3B1%3B-2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%28-2%3B-1%3B2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%282%3B-2%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=B%28-2%3B-2%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbeta
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20p%28%5Calpha%3B-9%3B3%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20q%282%3B%5Cbeta%3B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D6%2C%5Cbeta%3D3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D-6%2C%5Cbeta%3D3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D6%2C%5Cbeta%3D-3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Calpha%3D-6%2C%5Cbeta%3D-3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2%5Cvec%7Ba%7D-5%5Cvec%7Bb%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=3%5Cvec%7Ba%7D%2B2%5Cvec%7Bb%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%7C%7D%5Cvec%7Ba%7D%7B%7C%7D%3D%7B3%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%7C%7D%5Cvec%7Bb%7D%7B%7C%7D%3D%7B4%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cphi%3D%5Cwidehat%7B%5Cvec%20a%2C%5Cvec%20b%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%3D%7D%7B120%5E%5Ccirc%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=2-%7B%5Cfrac%7B%5Csqrt%7B3%7D%7D%7B2%7D%7D

Question 11

i=(-1,-1,4)_.b
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Select one:

a. (8,8,4)

b. (-8,-8,-4)

c. (4,-8,-8)

d. (8,-8,-4)

Question 12
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Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D%7B%28-1%2C-1%2C4%29%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bb%7D%3D%7B%28-2%2C2%2C0%29%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20a%3D%28-2%3B3%3B-1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20b%3D%281%2C4%2C2%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20c%3D%28-4%2C3%2C-3%29

